www.bybit.com

bybił

AFFILIATE PROGRAM

Bring in traders and other influencers and earn a share of revenue from each layer

UP TO **355% Lifetime Commissions** Earn double the industry average from traders you refer



Commission Structure

2x the Commission of the Competition



ebybit | www.bybit.com

Commission Structure

٦	Total Trad	Commission Tier (Profit Sharing)			
втс	ЕТН	EOS	XRP	Monthly Active Users	25%
> 0	> 0	> 0	> 0	>10	(1.25 bps on Takers Vol.)
> 500	> 16K	> 60K	> 10M	>50	33% (1.65 bps on Takers Vol.)
> 5,000	> 160K	> 6M	> 100M	>150	35% (1.75 bps on Takers Vol.)

Commission are calculated based on client's taker volume for transparency.



Commission Comparison

VOLUME (BTC)				COMMISSION (BTC)			
Volume per Referral (USD)	Trading Volume	Taker Volume	Maker Volume	FTX 30% * (taker fee + maker fee)	✓ BitMEX 20% * (taker fee)	e bybit 23.3% * (taker fee)	
\$50M+	32,000	31,000	1,000	2.8200	4.6500	5.4250	
\$25M+	28,000	25,000	3,000	2.7600	3.7500	4.3750	
\$10M+	22,000	19,000	3,000	2.7000	2.8500	3.3250	
\$5M+	16,000	14,000	2,000	2.2200	2.1000	2.4500	
\$2M+	16,000	14,000	2,000	2.6400	2.1000	2.4500	
\$0+	15,000	12,000	3,000	2.7000	1.8000	2.1000	
TOTAL	129,000	115,000	14,000	15.8400	17.2500	20.1250	

Commission structure from Bybit, Bitmex and FTX applied to the real volume data.

Real data taken from one of the affiliate's referrals' traded volume over September 2019 (rounded to 1000s)

Though FTX provides 30% commission fee, the discount on large volume traders drastically cuts affiliates' payout



Transparent Reports

Monthly reports detail all your inflows and how your referrals are performing

Default Campaign + Contract + Clients UID Date Search										
UID	 Clients Campaign 	Trading Time	Contract	Order Type	© Quantity	0 Price	0 Value	Trading Type	Commission Rate	0 Commissi
485262	Ð	2019-03-01 06:25:43	BTCUSD	Buy	2850	3799.5	0.75009869	Taker	0.0001	0.00007500
485262	1	2019-03-01 07:09:51	BTCUSD	Buy	110	3798.5	0.02895879	Maker	0	0.00000000
485262	10 A	2019-03-01 07:10:52	BTCUSD	Buy	242	3798.5	0.06370935	Maker	0	0.00000000
485262		2019-03-01 07 11 52	BTCUSD	Buy	284	3798.5	0.07476635	Maker	0	0.00000000
485262	2	2019-03-01 07:12:52	BTCUSD	Buy	78	3798.5	0.02053442	Maker	0	0.00000000
485262	8	2019-03-01 07:13:52	BTCUSD	Buy	69	3798.5	0.01816506	Maker	0	0.00000000
485262	10	2019-03-01 07:14:53	BTCUSD	Buy	2066	3799	0 54382732	Taker	0.0001	0.00005438
485262		2019-03-01 07:28:44	BTCUSD	Buy	2845	3793.5	0.74996704	Maker	0	0.00000000
485262	· .	2019-03-01 07:28.48	BTCUSD	Buy	2844	3791.5	0.75009890	Taker	0.0001	0.00007500
485262	2	2019-03-01 09:04:30	BTCUSD	Buy	2865	3820	0.75000000	Taker	0.0001	0.00007500
485262	-	2019-03-01 11:10:14	BTCUSD	Sell	2860	3813	0.75006556	Taker	0.0001	0.00007500
485262	5	2019-03-01 11-26 11	BTCUSD	Sell	2049	3806.5	0.53828976	Taker	0.0001	0 00005382
\$90057		2019-03-01 05:20:54	BTCUSD	Buy	100	3798.5	0.02632618	Taker	0.0001	0.00000263
490057	•s	2019-03-01 06:05:10	BTCUSD	Sell	100	3797	0.02633658	Taker	0.0001	0.00000263
490057		2019-03-01 06:05:55	BTCUSD	Buy	100	3798	0.02632964	Taker	0.0001	0 00000263

You will be able to track your earnings in a real-time mode in the Reports section. Other charts will help you analyze performance across campaigns, products, and users.



1-ON-1 Account Manager

We empower our partners by creating customizable campaigns to achieve high conversion and retention rates

· Contests

Every Affiliate Partner is assigned a Account Manager

for exclusive affiliate related support, technical issues and developing exclusive promo campaigns

Marketing Support

-Media Kit to be used right away to be used right away

· Banners | Links | Posters | Sales Points



Technical Support

Our affiliate solutions are cutting edge. On top of being twice more profitable, our account manager can be reached through telegram, phone or email so you can reach out to us regarding any technical issues anytime. -Customizable campaigns and collateral develop on request for our partners

bookserverses bookserverses constraints const

· Giveaways





Why Choose Bybit?

Bybit believes in Affiliate Marketing:

One of Fastest growing exchange in crypto space

Second in Liquidity: \$30M+

Daily Traded Volume: \$200M+

| 100,000+ daily traders

1,000+ affiliates

Q Your clients will love Bybit

-No overloads and downtimes -24/7 live support -No KYC -Mobile Trading -Welcome Bonus -Native coin as margin -TP/SL with order entry -Leverage upto 100x

One-on-One Account Manager

-24/7 Support -Customizable Campaigns -Latest Exchange Updates



Higher Returns

-Partnering with Bybit will earn you twice more -All commissions are Life-time -Bybit will help you with conversion and retention

Dedicated Affiliate Backend

-Serves as CRM for affiliate to gain total transparency on how and where commissions are made

-Report/Charts increase campaign conversions



Join and Start converting today By offering A Better Alternative & \$90 margin bonus To potential referrals

Visit https://www.bybit.com/affiliates or Email ib@bybit.com for more info.

bybit /www.bybit.com